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NO. 3 (m) (r(gl?go (m?) (m”) NO. 3 (m) (%12?320 (m? (m?)
6.000 0. 190 1.14 6. 000 : 0. 320 1.92
NO. 3 NO. 3
0. 190 0. 320
+6. 0 +6. 0
14. 000 0. 160 2.24 14. 000 0. 385 5. 39
NO. 4 0.130 NO. 4 0. 450
20. 000 0.165 3. 30 20. 000 0. 465 9. 30
NO. 5 0. 200 NO. 5 0. 480
20. 000 0.170 3. 40 20. 000 0. 470 9. 40
NO. 6 0. 140 NO. 6 0. 460
20. 000 0. 140 2. 80 20. 000 0. 460 9.20
NO. 7 0. 140 NO. 7 0. 460
20. 000 0.155 3.10 20. 000 0. 460 9.20
NO. 8 0.170 NO. 8 0. 460
03 4. 200 0.170 0.71 03 4. 200 0. 460 1.93
4. 90 0.170 4. 90 0. 460
0. 000 0.170 0. 00 0. 000 0. 230 0. 00
EBA 0.170 [FI AT
1. 300 0. 205 0.27 1. 300
NO. 8 0. 240 NO. 8
+ : +
5. 50 0. 000 0. 240 0. 00 5. 50 0. 000
EBi 0. 240 [FI AT
14. 500 0. 220 3.19 14. 500
NO. 9 0. 200 NO. 9
13. 900 0.210 2.92 13. 900
NO. 9 0. 290 NO. 9
+13.90 : +13.90
& = i
133. 900 23.07 133. 900 46. 34
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NO. 3 (m) (m®) (m®) (m®) (m) (m? (m®) (m”)
6. 000 - 0.340 0. 340 2.04
NO. 3
0. 340
+6. 0
14. 000 ——— 0. 405 5.67
NO. 4 0.470
20.000 ——— 0.415 8. 30
NO. 5 0. 360
20.000 —— 0. 350 7. 00
NO. 6 0. 340
20.000 —— 0. 340 6. 80
NO. 7 0. 340
20.000 ——— 0. 340 6. 80
NO. 8 0. 340
4,200 ———— 0. 340 1.43
NO. 8
14 20 0. 340
0.000 —— 0.170 0. 00
[l Py
1. 300
NO. 8
_I_
5. 50 0. 000
[l Py
14. 500
NO. 9
13. 900
NO. 9
+13. 90
= 7
133. 900 38. 04
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(1:3)
L A= 0.560 X 10.000 5.600 | m?® 5. 60
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307. 1

6.6
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WA SR B RIS SN M FE = W UER e DA N = T TR S
NO. 3 (m) (m) (m) (m? (m) (m) (m) (m?
6. 000 | 2.980 2.630 15. 78
NO. 3
6.0 2. 680
14. 000 2.630 36. 82
NO. 4 2. 580
20. 000 2. 755 55.10
NO. 5 2.930
20. 000 2.370 47. 40
NO. 6 1. 810
20. 000 1. 805 36. 10
NO. 7 1. 800
20. 000 2. 090 41. 80
NO. 8 2. 380
N0, 8 4. 200 2.425 10. 19
1420 2.470
0. 000 2.470 0. 00
GlEn 2. 470
N0, 8 1. 300 2.410 3.13
15 50 2. 350
0. 000 2. 350 0. 00
A A 2. 350
14. 500 2. 175 31.54
NO. 9 2. 000
N0 9 13. 900 ) 200 2. 100 29. 19
+13. 90 ’
&
133. 900 307. 05
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3. 80 + 6.70
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2. 80
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60. 7
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FAEHD : 2.2m

2. 58
%No. SHHHT : 2. 58m

R BUE L LD
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RS BUE L L0
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ar 7 — MEEY ()

ar 7 ) — MEEY ()

H BB [T ST i i 2L R A g ¥ e [TETI i 2
6. 000 . 0.130 | 0. 190 1. 14
NO. 3
0. 250
+6. 0
14. 000 0. 230 3. 22
NO. 4 0.210
20. 000 0. 135 2.70
NO. 5 0. 060
20. 000 0. 060 1. 20
NO. 6 0. 060
20. 000 0. 060 1. 20
NO. 7 0. 060
20. 000 0. 060 1. 20
NO. 8 0. 060
N0, 8 4. 200 0. 060 0.25
1420 0. 060
0. 000 0. 030 0. 00
Al A
1. 300
NO. 8
_I_
050 0. 000
A A
14. 500
NO. 9
13. 900
NO. 9
+13. 90
/El\
133. 900 10. 91
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Y SR i3 /A S hE o fE fi§ = H AR LS i ] YO [T = g =
2 2
NO. 3 (m) (r2n)700 (m) (m? NO. 3 (m) (m) (m) (m%
6.000 2. 750 16. 50 6. 000
NO. 3 NO. 3
+6. 0 2.800 +6. 0
14. 000 2. 475 34. 65 14. 000
NO. 4 2.150 NO. 4
20. 000 2.650 53. 00 20. 000
NO. 5 3. 150 NO. 5
20. 000 2.590 51.80 20. 000
NO. 6 2.030 NO. 6
20. 000 2.025 40. 50 20. 000
NO. 7 2. 020 NO. 7
20. 000 2.310 46. 20 20. 000
NO. 8 2. 600 NO. 8
03 4. 200 o 2.535 10. 65 03 4. 200
+ ) +
4. 20 0. 000 2.470 0. 00 1. 20 0. 000
EBA 2.470 [FI AT
1. 300 2.410 3.13 1. 300
NO. 8 9 350 NO. 8
+ : +
5. 50 0. 000 1.175 0. 00 5. 50 0. 000
[] T [FI AT 2. 350
14. 500 14. 500 2.175 31.54
NO. 9 NO. 9 2. 000
13. 900 13. 900 2.100 29.19
NO. 9 NO. 9 5 900
+13.90 +13.90 :
EEF = i
133. 900 256. 43 133. 900 60. 73




